Sr Questions Answers Choice
A. Finite
1 The set of rationals numbers between 0 and | is CB: 'l\r‘#ll:]ft':t
D. None of these
2 Question Image |
3 Question Image |
A. are real no
: B. both are not real
‘ Quesfion Irege | C. are imaginary no
D. both are imaginary
5 Question Image |
6 Question Image ‘ g j1
A1
7 Question Image ‘ CB: 3 i
D. -1
8 Question Image |
9 Question Image \
A. -8
10 Question Image ‘ CB: gi
D. 32
11 Question Image ‘
12 Question Image ‘
A1
13 Question Image ‘ (B: }|
D.0
14 Question Image |
15 Question Image ‘
16 Question Image ‘
17 Question Image ‘
18 Question Image ‘
A. multiplication
19 The set of natural no. is closed under 2 3?#;2?&?
D. division
20 Question Image ‘
21 Question Image ‘
22 Question Image ‘
23 Question Image \
24 Question Image \
25 Question Image |

26 Question Image ‘
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